Echec & Mat junior 146 — Solutions

Parcours du Pion

(1) 1.82g8#
(2) 1.¥xg7#
(3) 1.2h1#
(4) 1.82d8#
(5) 1...8xh2#
(6) 1...2h3#

Parcours du Cavalier

(1) 1. W1+ 2.8xf1 Exf1#
(2) 1..We2+ 2.2g1 We1#
(3) 1.Hxg8+ bxg8 2.3d8#
(4) 1...8xd1+ 2.8xd1 Bf#
(5) 1.7+ oh6 2.Wf6H
(6) 1.f3+ Dxf3 2.2g6+

Parcours du Fou

(1) 1.2xg6+ oxg6 2.2xf8

(2) 1.e5+ e7 [1...coxe5 2.Wf4#] 2.£xa8

(3) 1.2xe5

(4) 1.5xd5

(5) 1...2xe5 2.dxe5 ¥ixe3

(6) 1...d5 2.¥xd5 [1.8xd5 Bxb7] 2...¥xd5 3.Exd5 Exb7



Parcours de la Tour

(1) 1...¥xd5 et si 2.8xd5 Bf1#
(2) 1.¥xe5 Wixe5 2.4)f7+

(3) 1.Bxe7 £xe7 [1...¥/d8 2.2xe8+ Wxe8 3.Wxf6] 2.%f7+ £h8 3.%xe8+
kg7 4.Wxe7+ g6 5.Wf7+ h6 6.Wf6#

(4) 1.2xe6+ f8 [1...dxe6 2.We7#] 2.¥xd7 Eg7 3.2f6+ g8 4.We6+ h7
5.Bxh6#

(5) 26.22xd5 exd5 27.£xd7 et si 27...%¥xd7 28.2xe8

(6) 20.2xg7 Wixg7 21.8g5

Parcours de la Dame

(1) 1..Wixa2+ 2.dhxa2 Hbd+ 3.a3 Hxd3

(2) 1.5 hxg5 2.h6

(3) 1..5)a3+ 2.bxa3 Mixd4 3.Wes+ thg7 4.8b2 2f1+ 5.dhc2 2f2+
(4) 1.8xnh7+ xh7 2.¥h5+ cbg8 3.Wixf7+ bh8 4.Wixg7#

(5) 1.8xc3 Bxc3 2.8b8+ f7 3.Wxe2

(6) 1.Bxb7+ 2¢8 [1...5xb7 2.Wb6+ e (2...50a8 3.5c7#) 3.WcT#H] 2.8b8+
&xb8 34.9b6+ shc8 4.WcT#



